
 

                                  

𝑨𝑩 = 𝑩𝑪 = 𝑪𝑨 , 𝑩𝑴 = 𝑴𝑪 , [𝑨𝑷𝑴𝑪] = 𝑺𝟏 , [𝑪𝑴𝑸] = 𝑺𝟐 ,
𝑨𝑷

𝑷𝑩
= 𝒙 > 1 ,

𝑺𝟏

𝑺𝟐
= 𝒚 

𝑪𝒂𝒍𝒄𝒖𝒍𝒂𝒕𝒆 𝒚 = 𝒇(𝒙).  𝑰𝒇 [𝑨𝑷𝑴𝑪] = [𝑪𝑸𝑴] 𝒕𝒉𝒆𝒏 𝒇𝒊𝒏𝒅 
𝑨𝑷

𝑷𝑩
 .  

Proposed by Thanasis Gakopoulos-Greece 

Solution by Mirsadix Muzefferov-Azerbaijan 

𝑺𝟏 + 𝑺𝟐

𝑺𝟐
=

𝟏
𝟐 𝑨𝑸 ∙ 𝑷𝑸 ∙ 𝒔𝒊𝒏 𝑸

𝟏
𝟐 𝑪𝑸 ∙ 𝑸𝑴 ∙ 𝒔𝒊𝒏 𝑸

=
𝑨𝑸 ∙ 𝑷𝑸

𝑪𝑸 ∙ 𝑸𝑴
  (∗) 

𝑺𝒐 𝒍𝒆𝒕′𝒔 𝒇𝒊𝒏𝒅 
𝑨𝑸

𝑪𝑸
=?  

𝑷𝑸

𝑸𝑴
=?.  𝑳𝒆𝒕′𝒔 𝒖𝒔𝒆 𝑴𝒆𝒏𝒆𝒍𝒂𝒖𝒔 𝒕𝒉𝒆𝒐𝒓𝒆𝒎 𝒇𝒐𝒓 𝒕𝒉𝒊𝒔 ∶ 

𝑸𝑪 ∙ 𝑨𝑷 ∙ 𝑩𝑴

𝑸𝑨 ∙ 𝑩𝑷 ∙ 𝑴𝑪
= 𝟏 ⇒

𝑸𝑪

𝑸𝑨
=

𝟏

𝒙
 (𝟏) ⇒

𝑨𝑪

𝑪𝑸
= 𝒙 − 𝟏,

𝑨𝑷

𝑩𝑷
= 𝒙 ⇒

𝑩𝑷

𝑩𝑨
=

𝟏

𝒙 + 𝟏
 

𝑨𝒍𝒔𝒐 , 𝑴𝒆𝒏𝒆𝒍𝒂𝒖𝒔 𝒕𝒉𝒆𝒐𝒓𝒆𝒎 ∶ 

𝑩𝑷 ∙ 𝑨𝑪 ∙ 𝑴𝑸

𝑩𝑨 ∙ 𝑪𝑸 ∙ 𝑷𝑴
= 𝟏 ⇒

𝑴𝑸

𝑷𝑴
=

𝒙 + 𝟏

𝒙 − 𝟏
⇒

𝑷𝑸

𝑴𝑸
=

𝟐𝒙

𝒙 + 𝟏
  (𝟐) 

𝑳𝒆𝒕′𝒔 𝒖𝒔𝒆 (𝟏) 𝒂𝒏𝒅 (𝟐) 𝒊𝒏 (∗) 

𝑻𝒉𝒆𝒏 
𝑺𝟏 + 𝑺𝟐

𝑺𝟐
=

𝟐𝒙𝟐

𝒙 + 𝟏
⇒ 𝒚 =

𝑺𝟏

𝑺𝟐
=

𝟐𝒙𝟐 − 𝒙 − 𝟏

𝒙 + 𝟏
 ;  𝒊𝒇 𝑺𝟏 = 𝑺𝟐 ⇒ 𝒚 = 𝟏  

𝟐𝒙𝟐 − 𝒙 − 𝟏 = 𝒙 + 𝟏 ⇒ 𝒙𝟐 − 𝒙 − 𝟏 = 𝟎 

𝒙 =
√𝟓 + 𝟏

𝟐
= 𝝋 


